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������������������������	�	� �����∃���� �	��	����	����� �	 ������ ����∀���	����∀�
�������∀���������	+������������������	���������������∃������
��������������������
���	�	�#
1���������������∀�����)0�����	��∗3

Ν 1������∃��������∀����∀�∆����	�� 9Ν9!
Ι ����������������������	���������	�������������������	��������∀���������∀��	��������
������(�
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�	�����&��−�������������#�����9����#��&Β!
−�������∀���	����∀��������∀����	��������������������∀�����������	?
1������������+��������������	���������	����	�∀�		����������������������������	�

���������������	�������������������+	����∃�������+������������������∋��������∀��
���#!#

(�� � ����	������ � ����	 	������� � ������ � ��� � ������� ��� � � � ��� ��∀�

���������������

1 � ��+� � ������ � 	�∀� � ����� � �� � ������ �∃��+�� � �� � �� � ����������� � ��	������
������∀�∃������������������	�	���	�������#���	�����	���������������	�������������!��
	������∃����������������∀∀���������������������������∀�	�	�%�������	��1������
∃����<�%��∃�����	����	����∀�	����	����	������
��������
��������	����&��&���&����
	+������������#�
1���������	����	������+��∃�������������������Χ�������	������	�����
��	�������

�������
 �
�����	������
�� ����	��	���	��������∀�������	����	��������������	�
�������+	�	���	������������
�����7��1�	���������������� ������	�������	����	��
���� � �� � ∃��� � ∃�	 � 	��	�∋������ � ��������� � ∃�	 � 	�∀�∃��� � ��		 � ���� � ����
���∀�	�	3���#��
����	����
���∃���������	�� 9::≅�����
�������������������∆�����
 99Ι!�#��
;����� � ���� � ���� � 1 � ∃��� � �� � 	���� � ∃��� � ��� � ∀�	� � ∀���∀���	� � ������ � ���

)��∀���6���∗� � ��������� � � �� � ��� � ���� � ���	� � � ��� � ���� � ���� � ��� � �����∀� � �	�
��∀��	�� � �� � ∀������� � ����������� � �����	 � % � ����� � ��� � ��������∀��� � �� � ��	�
)�������∀�����(�����∗�&#��2��)��∀���6�����∀��	∗�	���5��∀������ ������������
	������������	������	�� ������������∀��������	�����������	��������������/�		����
��  !#
0������� � )���������∗ � ������	 � ���� � ��� � �		�∀����� � �� � )����� � ����

�����∀�����	∗�����������������������	���������������	!����∀�	�������∀	�����	�
�∀����	���	�������������������������Χ�������	����#
2������	��������������	�	��������∀���6���������������∀��������	�������∃����

�����������
���∀�����Π
�∀���	���	�������������∃�������������������������
����������������������������������#�������∀�������!���������������������	����
����	�	��∀����������∀��������	�����������	����������������#����	��	�∃����1�
Χ�+���������������)��������������∀∗#�1���	���	�������	���������������������∃����
�����������∃��������������∃���������� ����������������������∃�����	��������	����#�
������	�������������∀�����������������������������������������	��∃���������������
����� � ��� � ��� � ��∃��	 � < � ! � �� � ��������	� � �����∀��	 � ������ � ���∀ � ��	 � ����� � ���
∀������#����	��	�����������������������)��	���		���������	∀∗���	�
����0������������
������#�0�������� 99:������0������������/�∀����������Ν!#
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� � ��� � �6�∀���� � �����	 �∀��� � ������� � �� � ���� �∃��� � ��� � ������� � ��	�	 � ���
�����������∃�������������������������������������������������&	������������
	�����&	�������!�����	���������		�����������#
��∀�����������	�����	���������������	����������	��������		����������∀����

�∀�����������������)���Χ�������	∗����������������������#
���		������������������∀���������������������������������������������������

������		��	���)�������	����∗������	���)��∀�����������∗#

∀����∀���������	�����	��������� � �������	��� ����
��
�������
�	����	� ����

�
�����
���

�����������	���������������������	����∃��������	����	���	���������∀���
��������	��	��∀∀���������	�������∀�������������������	�	��∀��	������������������
��∀� � �� � ��	 � �����		 � ��� � ������� � �����������	� � ���	�∀����� � �������	��
������(�����������∀	�#
1� � ���� � ��� � ������������ � �������∀� � �� � ���	� � ��� �∃�� � 1 � 	�� � ��� � �����	����

�����		�	��������������	����	�������������	������������∀����&������	�	��∀	�#�
∆���∀��	�������������∃����������������	����	������������������#

!����
�����

∋<�	�����������=∋

�����∀���	�	��������∀��	�������������	��������∋�������������∃������∀����
������� � ∀������������� � ���	�������� � ��∀∀�� � �� � ��� � ∃���� � �������������
��	������������∀��∃�����∀�������������∀������
���8������	�∀	���� �������
�∀���������
�	�����������=�#�

��� �∀������������� � �∀�������� � ��∀���	 � ���� � ��� � �6��������� � ��� � ∃���

	�∀��������6�	�	�����∃����������������+�	�����������������	�������������	�������
�����		��������������∃��������∀��∃��������	#�∆��	����	���+�����������∀����	����
�����������������∀��������3������������������		�	������������������∀�����∃�������
��∃� � 	�∀� � ����∀���� � 	�	��∀� � �� � ������� � � � ���� � ∋���������� � ��	��������
�����	��������������∃������		����������!#
������� � �� � �� � ���∀	 � �� � �������� ����	��������	3 ��� � �6���∀��� �∃��� ��� � ����

������������������∃�����	���	��������������	�Χ�	��������∀	�����6&��	���∋��������∀�
���������(�����	��)�����	���������+�������������������������∗!#�
.� � ��� � 	�∀� � ��+��� � ���∃���	������� � � � ���� �∃���	����� � �������� � �� � ����

�����∀��������		�������������+���	��������)�6���������∗������������6�	������
������∀������������������������	������∀�������� � � �6�	�	������	�� ���������∀	�
�����������Ο!#�
0�������� � ����� � �� � ���	 � ���	�������� � 0����� � 7����∀���	 � ��� � )�	 � Ο � ��∗�

�������������� ��� � ��� ����������	 ��� ��∋��������∀����������	 � �7����∀��� � 9ΜΒ!�
	�����������+����	�����������������������∀�	��������∃����<!����Χ��������������
��∀������������	����	�∀����	�������������∀��	≅�����	��	���������������	�	����
�	 � ���� ��� ������������� �	����� �	��������	 � �,

! ��	 ����������� ���� � ���∃��� � ���
�����������Κ����0�������
∀����� 9ΙΝ!��������������������∀��������������	�����
∀���������	����������������������������������������������	��������	�!#
1������������������������	������������∀	�����	���	�����������∀�����������

�������������	����������∀��������������	�)�	�Ο���∗������������∃����∀�6�∀�(����
���	����������		�∀��������������	��∃�����∃�������������������������∃������
	�∀��	��������������		#�1��������������	�����	�	������������	���������������������
�� �8����� � � 9ΝΛ! ������∋���∃���� ��������� �������� �� ����� )�	##�� � ##∗ � ����∀	#�
=�∃����� � ��� � ���� � ∋��	�& � ����������� � ��	������� � �	 � ���� � �� � ���� � ������������
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����∀�������� � ��� � �∀������� � �������� � ∃��� � �� � ��∀�	 � �� � ������ � ��	�
���	��∀��������������Ο

>
�����

>
�������	���������������������������	����	�������		���#�
�������	���������		��������	������������∀�����		�����������������������∀��3�

�������)����∀����	���������������������)���	��5������  ����	����#��
������	�∀��
��∀��� �����������	�∀���������������	��������������������������∀�������������
������	��	�������%��������	��	�����������������	���	���������������������	��������
�������������� � �� � �������� � ������ � ������	 � ��	�������� � ��������� � �∀��������
∀������	∀	���������∃�	���	����#�Φ����������	�������������1�����������	��������
�	 �∀��� � �	 � 1 � ∃���� � ��+� � �� � �	 � ����� � �� � � � ∃���� � ��� � )����������&�������∗�
Χ�	���������� � �� � ������� � ∀�������� � ��������	 � & � )�� � ���	 � ��� � ∀����� � ����
�		�∀����� ���� �∀�+�� �∃��� � �����	 � �	 � ��� �∋������ � �� � ���� �����������∗ � & � �	�
��	����������	��∀������������	�ΟΓ

�������)���������)���
����)���,�

���������	�������������	��∀������������	��������	����∀������������ �������	�
���	 � �� � ���� � ��������� � �������� � �∀���	� � �����∀�	�	!� � ��� � �����∃����
	��	���������������������+	������	��������������&�����������������������	������
������∀��∀����∀�����������	��	�������������������������������	������������∀�
�	����;��	�������8������� 9:�≅���	�������#� 9::≅�0��������� 99:≅������������Μ≅�
��	������;��	���� 99Λ��−������������	��� 99:�����	������8������������������
∃�����1�����������∃�������	�	������≅���������������������������	�������!#
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∃�
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�� ����������� ����������	


� � �� � ����	��	������� �����������������
����������6�����������������������	�����������!����������	����������������∃����
�����	��������∃����������� ��:# � �;������������������	���������	 �	��� �∀�����
��∃����������������	����Χ������	�����������������������������������6���������	�
���������# � 1� � ����� � ∃���	� � ���� � � � ∀�		��� � ∀�	�����	������� � ��	�
)∀��������������	∗��∋����������������������6���������	!#

∋)��	
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∀�������������∀������∀������������	��	��������������������	�����������	��
�∀�������������	����������������������∀����������������������������∀����	������
∃���������������∃�����������#�1�∀�	��	���������	���	����������1����������	��+������
∃����)�������������������∗��	����	��∀	�������������������)2��∀���∗�������������
∃��	����	���������∀�����������������	�∀��	���	���	����∃�∀����)�������∗��	�
)�������∗# � 2� � ��� � ��������� � �� � ������	 � ���� � �� � �������� � ��∀���6�
�������∀���	� �	�������2��∀��� �)�������∗ � ����������� �∀���� ������������������
�����������������#�8����	��		������		������������������	���0�����������7�������
����Μ!#�

: ;�������∃�����������∋���������∃�Η�������������#�#����&∀�����������!�����∀���∀����	�����
���������		����	�	�����∃����������������������������������	��	�∀��������∀�����	�����������

��������������4��	����������Μ≅��������−������������	��� 99:!#������������	���	����	��		���
�������������������������	�������!#

 �



�������∃����������������6���	��������������)�������������������∗����������
∀�	��������	��������∀�������	������!�����		���������∀�����≅����!�∀�∀���≅���������! �
��∀���������� � ��������	≅ � ��� � ��	� � ∀��� � �����∀������� � �� � ���! � ������	�������
�∀������� ��
��
�
	�����	�� �� � ��� ��������∀��� � �� �∃���� ������	 ��������≅ � ��!�
���∋�����	���∀�������	�������������	>���������	����∀�	�������	���������)	�����∗�
�����������	9≅��������!���((���		����		�������������������������	�����������������
������������������	��∃������������	#
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�
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����������∃��������∀�������������	�������������∀�������������&�����������
���������������	����	�	��������������������∀���������	#�2������	�������	�����
������������	 � �� � ��! � ����� � ����������	 ���� � ����∃∀���	 �% �� ��������� �∃����
��+��∃���������	�����	��������∀����	�����������������������,∋��������∀����	����
���� � ������ � 	� � �� � ∀�	� � ������� � ∀���� � ∀����	<!# � =�∃����� � ���� � ����
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��������∀��	�����#!�����������������������������������������������	�
�
��
	��
����
���
�# � ��� � ���������� � ��� � ������� � ������������� � �����∀� � �� ����������

������������������	�
������	������������������	���������#
�������������������∃���������������������������������������������	���������		�	�

����
�������	�+����	��∃����
����0������������	�)	���&����	���∀����∀��+��������)!�
∃���������∃����������∋��������∀�������������������������������������������∀����
∀��+������������������ �∀��+��	������ ��� ���∀	���� ������∀����������������������
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���∀��∀���������∀��������	�������∃������������������� �#�
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�������� ������	���� ���� ���		���� �∀������� ��	 � 	���# �8���� � ��� � ���∀�� �����
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������	��Β������	����	���∀������������	���������������	∋���(���������������������
�����������������∀��	���∃�����	�∀��	�����������	���&�������������∀�∃��+����
∃���������∀��������ΗΗ�����	�����������������∃�	���������������������#�8��������
��� � 	����	����� ����������	 � �� � ��� � ��∀��	����	� ������ � �� � ������������ ���� �����
���∃���������������	���∀����∀���������	�∀�������������������6���������	�����
�∋��������∀ � �����∀� � �� � 	�∀� � 	����	������� � �������∀����� � ∀�6�∀�(������
�6����	�����	������������#�−�����	������������∀�����	��������������������	����
��	 ���������# �,∀������� ������	�	 ����∃������������ ������	������	�∀�������
∀�����������������������	��	��������∃���������������������������∋�����	��������
�������	�	����������������������������∀��	���	������	���		����∀	������������	���	�
��������∀��	�����������������+���#
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����+	����∀�		��������	���	����∀����&����������������������∀������������	!�
����������∀�������	��������������������	���������	��������	����������������������
��∃ � ����	� � 	����	����� � ���������	 � ����������(��� � ����	����� � 	��������	� � ������
������	� � ��� � ������∀���� � ���������	 � 	��� � �	 � ��������� � ���∃�� � ����
�������������#��
�����	����	������;��	������ �≅�����.����((���������� �!#
1�������������)	����(�������	∗��������3
�# =�����������&	+�∃������∀���+
���	���������	��∃�������������������������∃�����

∀�����������������	�����������∀������������	������	�∀����������∃���∆�∃ Β�����
	�����������������������∀��������������������	����	����������	�����������!#
��# �����∀���������� � ��	�������� � �� � ���∀	 � ���∃�� � �	 � � � ∀��������������

	�����	��� ������		� ����������� � ���∀�	�(���)�������∆�∃∗!������ ��� ������ ������
���	�&����� � ��	�������� � �� � ��� � ��	����� � ����∀��	# � =�∃����� � 	�����������
���������	����∀�����	�∀���	�������∀��+������		�����������!�	∀�������∀	≅���!�
����������� � ���������! �������������� ����∃�� � ����	 ���������≅ �������! � ����
���������!�	�������������∃��������	�
��∃����	�(����	���#
���# ������	���������	��������������
�����∀	����	��������&���������	�	������	����

���	�∀�������������������������∀������	∀�∃�����∃����������������������������
���∃��������	�∃����	∀�������������������#
��# 
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��������� ��� � ∀����� � ∃������ � ∀��	���� � �	 � ������ � �� � )����� � �������
������������∗� �∃������� � ���� �∀���	! � ����		 � ���∀	 � ��� � ����		 � �����	# � 
����
����������	���������������	�	������������∀�#
�# ,∋������∃���	������
���
�
	�
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�����	�����������#�
�������������������������������������	��������	�	����������∀�#
��# 7��������������∀����������������	�∃���������������	������	�������	���	∀����

�������� � �� � ��� �∃���� � ���������� � �� � ���∀	� � ���� � �� � ��������������� � ��������
��������	#
���������	����������������	�����������	+�∃���������	����	�	������	�∀∀�����	�

���������∀����	������������������������������������������	���	#
1����������	�∃��������������	������;��	������ �!������	������∀�	���∀��������

����������������������������	�	�������������������	�������∀����	���	�	��������
������∋������������������	�������(�������������������	�%�����	��������������������
����∀�����������������������∀������������������������∀�#
����������������	����������+����������������∋��	����	�������	��������������	���	�

���∃������������������������	���	��������∀����	���������������∀��	#�����������
�����������∀�����������������	��������������������������		��	#�7����6�∀���������
��� � ���������(� � 	��� � ��������	���	 � �� � ���∀	 � �� � 	�∀� � ���������� � ��������
�∋��������∀� � ������ � �� � � � ������ � ∃���� � +���? �8��� � ∃���� � ���� � ��� � �� � ����
������������������������������?�2���������	�����	���������������	���������	�����
���∀ � �∋��������∀ � ������������ � ����∀��	? � 1� � ��� � ��	�� � ∃��� � �����	 � 	����
�����		�	?�8�����	����������������������∃��������	�������������∀�	��+�&�������
��������������������������������������������������������������∀������	���������
�∀��� � ��∀������ � ���∀	� � ��� � ��	� � �������	� � �����������	� � �������	 � ���
������(�����������������������	��������������?

� � ������������ � ������������ � 	���� � ����� � ��� � ��������	��� � ���∃��� � ���∀�

	������������������	���	�����������∀����	����	�����������+�����������∃���#
�����������������������	��������(��������	����	��������	����	������������������

����������	��������	� �∀�+�����������	�������������������������	�∃�������������
	�������������������∀	��������∀����	#�0������������������∀	��������������������
 Β 
���∃���∆�∃��	�����������	����������������4���ΗΙ ��ϑ�� ��,���������������������������������������

������������∀����������Η��	��������������� �,����������������������	������������������
�∀������������������������������#
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��∃��������	���������	�∀��∋�����������	��������	�������	��������∀��+���	����	≅�
∀������������������∀	������������� �	�����������	�∃���������)������∗����	�∀��
��∀��	���	����+�∃�	��������	�����������	����	������������������������	����	≅������
���������∀������������������∀������������������∀	����������������∃�∀���������	��
���������������������	��∀����������������		����������������������∀��+��	#
2����������������������������∀������������������	�∀��	������	�������∀	����

	�∀� � �6������ � 7�	���&����� � �� � ∃������� ��
��������� 
�	������ � 	��� � �	 � ���

���������������#�� 9::!�����0��������� 99:!��∀����∀���������	�����������∀	�
���	�∀�� �∀������ �����������&���������������������	� �∀�����������;��	��&8������
���������	�∀��������∀��	# Λ

.�����∃����	����	�	���������	������	��������������?
∆���∀�����	��������	�������∀�������������������������������	���������������������

���∃��������	��������������������	#�0������;�����
∀�����������������∀�	�������
����������������	�	����	��������	�����������	����	��������&������������������	�
����������	��� �	����	 ��� ������� � �� � ��∃&������������ ����	 ��	 �������	 � �� � ����
���∃��������������	���������������������	�������������������		������	�����∀����
�����∃�������������������	��	��������	��∃�#
1����∀���∀�������������	�������∃������∀�������	������	���	��������������

�����������	����∃����∃����������������������������������������������∀�	���������
���� � �� � ���� � ∃��# � ��� � �����∀����� � ������������ � ���� � �	 � ���� � �������������
��	���������	 � ������ � �	 � � � ��	��� � �� � ��! � �������� � �� � ����∀���� � �������	��
���!������������ � ���∃�� � ��#�# � � � ���∀ � �� � 	��������! � �� � ����∀���� � �������	�
���∀	����	������!��������������������������������∀���������������∀����	��������!��
���!����������������∃��������	#
7�������������������������������∀����������������������������������∀�������

����������	���������#�2�����������+�	�� 99Ν≅�7�	���������#����� ≅�.����((�����
����� ��≅�����������	��		�������.�����	∀���������∀	������!������	������	�����
���������	����	��������∀��	�����	�����������������������������������������������
���∃������� !����∀&	��������������	���������	����	����	������	�∀���∀�	��������
��� ������	� ��∀������!≅ � ��! � ����������	� �� � ����	����	 � ���∀	����	� ���������
������� � ���∀ � ������������ � �����	 � ���	���� � ���	� � +��∃� � �	 � ��� ��
��

	�
��∀������!≅ � �Β! � 	�∀�� ����������� � ���∀≅����	� � �� � ��������Λ! ��6�� � ≅ ���� � �Μ!�
�����#
2������	����������	������	������������������������������������������������

��������	� � ����	����	� � ��� � ∀�����	 � �� � �����	�	# � =�∃����� � 	�∀� � �������	�
�∀����#
7��	������������	���∀������������������	�	������������������������������
��

	�

���3 �������� � �� � ������� �∃�� � �∀�����∀��� ��� ������������� ��� ��6�	���� � ���∀	�
��∀�����	������	�������������		����∀	��	���∀�����������	�����������∀�������
���	���������������������������������������������������������������������	!#����	�
�∀����	���������∀����������������������������������������6����	�	��������∀�
�	��∀���	 � �� � ��� � ��������	��� � ���∃��� � ���������� � ��� � 	��	�∋���� � ���∃��#�
0�����������∀	�������������	�∀����������������������	��������∀���������������
��������������∀	#������∀�����������∃����	����	������∀������		������&���#�����
 Λ 
����������������∀��	�������	�������������������������∋��������������	���������������	����������

	���������	!������∃�����������������������������������)�����		∗�������������	����∀	����	#�1��
����������������		������∀���(�������	����∀�7�	����� 9Β�!��∃�����	�������∃��+	����
����
0�����������������������������#�������
������������������∃������	������������	�������∃��+	�
���∀��������������������	!���������������∃�����	�∀�����∀���(������������������∃�����������
����∀��	��������)�����		∗�������������	���������	�����		�∀������������	#�1��;��	��&8������	�����
∀��������������6�������)������������∋������∗��	��������������������∀����	�����������������∀�
�
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�������� ������	�� ��� �.����((� � �� � �� � ��� �! � 	����	�	 � �� �∃��+ � ��������	����
���∃��������������������!��������������	��������∃��3�∀�����������������∀	����
	���	��∀�������∃��∀����∀���#�7��������∃����	�∀����	������������������∃����
������������������∃���������	�����	��	���∀�	���6���	������������������∀��������
��∃��������	�������������	���������������∃��	�!#�
�������	�����	�������������
	�������������∀����∀����∀#�

���������������������������	��������������	��������������������	���������∀���

∃������������������	���������∀������	∀	�����		����������������������∀	���������
∀����∀���������������� �������∀����∀Π��������∀�������	� ���������������������
���∀	������������	����	��������������������	����������#��=�������������������	�
���∀�������∀�������Π	����	��������	� ��� �	������������������������������������������
��������)�����∗�������∀	�����+������∃������������	��������∀����	!#
�������������������������1��∀����∀������∃����	���+������	��∃	�����������������+�

���∃�������������������������∀����∃����������∀����	�#�=�∃�����������������	����
�������� � 	����	� � ��	� � 	�	��∀���� � ������	 � �� � ������������� � ���� � 	��������
������������	����#�������	��		�������.�����	∀���������∀	������≅�7�	���������#��
���:!#
�����∀���������	�����������������������∀�������������������	������������	������

�������&��������#�−���������������������������������������������	������	���������
�����������∀���������������������	����	�	�������������∀���	�∃������������∃�������
���������������������� � ����	�������� � ��������� � �������������� � ���+��� � ��!� �����
����������#�=�����������	����∀	���∀�����∃�����������������������������		�����
���∀&	������� � �� � ��������&	�������! � ����� � ��� � ������ � �����	� � ������ � ����������
������	#�����������������������������������������������������������∋��	�&����	�����
������	���� � ��		�	 � �����Π����∃ � ��� � �������� � ���� � ��∀�������� � ������ � ����	#�
0�������∀	�������������������∋�����������∀����������∀	��6��	#�1����������������
��������� ������	����� � ������	 �� � ���� �	�������� � �� � ���������		�	 ��� � ����������
��∀�����������������∃��#
0����������	�∀����������������	�∀������	∀	��������������������������∃����

����	��+��		�����������	��������	����∀�����������������������	���������	�∀����
����	���	� � ����� � � � ������ � 	��������� � �����		 ��� � ������ � �� �∀�	� � �������� � ���
������	���&�����������	�(�������������������������������&���	���������������������&
��������		����������	�����������∃�������	#

� � ��� � 	�∀� � ��∀�� � ∀��+�� � 	�������� � �∀��� � ���∀	 � & � ��� � ����� � ��������

∀������	∀ � �� � ∃��+ � �������� � ∃��� � ���∀&	������� � �������� � �� � �������������
��������������	 � �� � �����∀�� � ������ � & � ���	 � ��� � 	��∀ � �� � �� � �������������
��∃�������������	�������������������∀����&���������∀��	��������∃�����	����	���	�
������������#������	��������	���������������	�	��∀�������������∀�����������������
���	�	���� � ������������� � ������������	# � ���� � �	� � �����∀������ �∀��+��	 � �� � ����
���������������������������	�������	 ��������������∃���	���������	�∀���	� ���
���∀	 � �� � �������� � 	�(�	 � �� � 	����	� � �� �∀����� � ��∃ �∀��	����� � ��������� � ���
������������ � �����������	# � 0�������� � ��� � ��	���� � �� � ��� � 	����� � ��������	����
���∃�������������������������∃���∀�������	������	��������������
���∀���������
������������������	���������∃�����������	�����������������	�∀���	!#

�������� ��∀��� ���������� � �������	 � �� � � � ����������� ���������� � �������	 ����

�∋���∀�������������������	������������������	������������	���∀�Χ�������������
����	����������∀��	#�=�∃���������	��∀	���������������������6����������	����∀	��
������ � �� � ��� � �∀���∀�������� � �� � ������ � �����		�	 � �� � ���������� � ��� � ����
�������∀���������������		���������������	#
1�� ����� ������������ �)	���������∃��+��		∗ �∀���� ����������� ���� �∀��������

���	��	�%����∀�	�����	����	�������������������������������������	#
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7��	�� � ��� � ∀��	���	 � ������������ � & � 	����	���� � �� � ���������� � ������ � ���
������������ �	���������& ������ �∀���������3 ����������� �����	��������� ����������
��∀������������������������������	�����������������	��������∀����������		!�
���∀����	�������������������∃������������������	��������	���+���������	�����������
�����������������	��������������#����	�������	������∀�������	��������	�����
�����∀����	��∃�����������	���������������������������	���	�����������∀����	#�

	 � �� � ∀����� � ����	����	 � ∀�	� � ����� � ������� � ���������� � ��� � ��������
���������������������������∀��������∀�����������∀��	��������	�������6���������
�������������������∀����������������������������������	��������������		�	#

������������������������������������	��������������	����∃��������	����	�����

��������(�����∀���������∃���������∀��	�������������������#�1���	�∀����������������
∀��������	����	��������+��������������	��&∀��+����������������	�(�	��	���������	�
�� � ��∀�������� � �	�� � 
������ �  99:!# � ��� � ����������	���	 � ��� � 	�(� � �� � 	����
	��∀��+��	 � ����� � ��	� � ��������� � ���	������	 � ��� � ������������	 � ��� � ����������
���∃��#�7�����������7�������������������������	��&∀��+��	��������������������∃���
������������	���������������∀�����∃��������������#�=�∃�����������6�∀�����	�
������	�������	���������������	����3�7�����������∃���	��������������������������
��∋�������7������#
������ � � � ���∃��� � ∀������������ � ���������	 � ��� � ������∃����� � ���∃����

������������� � ��� � ������(������� � ������	 � �	 � �����∀�����	 � �� � 
���∀���������
��∀��������3�.��	�����������#����  !�����	�������������������������	�����1.0�����
0����	������������������������������������−������������∃	������	���������#�.����
���∀	� � ��� �∃��+ � 	��∃	� � ����� � ������(������� � ��	�����∀��	 � �����	��� � �� � ����
�������������������	�∃����������∃����	��������������������∀�	∀�����������∃����
���Χ�������	�����������������������������������������(��������	��&��	�����∀��+���
��∋����∀���	#
7��������������+	����∃����������������������������������������������������

�������������∃�������������������������������	��∀�����������������������	����
����������������∀��������∀	�������6�∀��������������	����	��������	����6������
�6�����������≅���������	��������	≅������������	���������	���������#
−�∀� � �	 � �� �∀��� � ��� � �������� � �� � ��� � �������� � ∃��+��		 � �� � 	���������

�����		�	 � ��∋����	 � ���� � ������������ � �������	 � ��&����+ � ����� � ������� � �� � ����
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��%�������	�����	����������∃�������∀��������������������	�����
�����	����� �% ���		���� � ������	��� � ������∀��� ��� �����∀���	 � ��#�# ���� ������
����������������������	����������	�������	��������������������	���	!�����∀�����
����∃�������������������������	��	������������6�∀������∀��������������	�∀�����
����������Χ�	������������������������)��	�∗����������	�����������)∃��	�∗###!#�
1��������∀�����������������	����������������������#
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��� � ��������� � �� � �����������	� � ���∀	� � ����	����	� � ��	��������	 � ��� � ∃�����
�����∀��	���������	�����	������� ������		�������������������������	��� ������
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�����������������	�����	��	�∋����������	�������������	�������������		���������
����&���∀������∀�	#�
���������������!�����������)�������	�������∗�	����	���������
��������∀��	���	��� �������	�������������		���	�����������������������	�����	�����
	���+��)����������+∃���∗#�
	������	������  !��∀���	�(�	��������)5���������∗��
	�	�
���
�������	��������������������������∀��������		�	#
1������ � ∃���� � 	���� � ��������� �∃���� � 	����	� � ���� �������� �����
��� �� � ����

��∀���	����	����&�����∀���������������	�	��������+��∃�������������	��������	�
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	���∀����������∀�	�������∀������������∀�������������������∀����������������
����∃����������	�����	����������������		��������	�	�����������6������	����������	�
�� � �����∃�	� � ��������� � �����		�	 � ���� � ���� � ��� � )��	���∀���	∗ � �� � ��������
�����∀�����	�����)��∀������������������������∀�∗���	����������	��������������!#
1� � ����� ����� ����������� �∀���� ��∀���� ��� ����� � ���������� ���� � � 	�	��∀�

�����	#� �2�������������+� ���� � �	�	��∀	���∀��	����������&���������������	�
∃�����������∃������������������
���
���������	�����������������∀�%���������∀��
���		 � �	 � ���� � ���	 � �	 � �∀��������� � ������ � ����+��� � � � �� � ������������� � 	�	��∀	�
��∀��	�� � �� � �����	 � ∃��� � ��	����&���� � ���������	 � ��	������� � ���������		�
�������������������������#�Φ0�������	�������������∀���������∀	�����	������	�
��������������	�∀�������������������������������	#�0����������������������	�
���� � �� � �6������� � Χ�� � �� � 	��∃��� � ��� � �∀������� � �� � ����&����������
�����∀���������������∀���������∀����		�∀�����	��� ��������� ������������
)���6����∗������	3�	��������6�∀����������� 9::!��� 99Β!���������Μ!Γ
����&���������� � ��	 � ∀��� � 	�����	� � ��������� � ��� � ����∀�� � ������	����

������	��		��������∃������������∀�������������������������+��∃����������∃��+�
�6����������	� � ��∀���∀���������	 � �� � ��� � �������� � �� � ���������� � ����
�����∀�������������∀��	#�0���������1�������������∃����������� 99Λ!3�����������
������(����� � ��� � ��	��������	� � ������� � ����&�������� � �������	� � ��� � �	 � 	����
)�������	������	����∗#
7������� � ����&���������� � �	 � ����� � �� � ������ � ∃������� � ��� � )	���������

����	����	∗��	�����	��������������	��		���������!�%������∃����������������	��
������(�������������	�����������	�����#��������%���������

��∃����∀�����������+	#�
1�����	���	�� � ���������		� �	 � ��+�����������	���+� ���������� ����∀�������� ������
∀�6�∀�#
����&����������∃�������∃��	�������� �������		�������������������������������

��	���������������������)���	����∃����∗�&��������	��	��������������������	��������
��∀��������� �� � ������������� ����������(������� � ���∀�∃����� �	 � )��������∗ � ���
���������	��������������	�∀�����∀����∀�����	������∃�������∃��������������������
������������������#
1�����	 ���∀���� �∃��+	����.�����
������ ����� ������� �Σ��� �5�����	+�� �/�����

−�∃���������	��∀�	����%��∀���������	�%��	�Χ�	��	��������������	����������	�∀��
���������������������∋��	����	#��������	��&���������	����
�������Κ���������&�
�������	�∃����)∃�����������	�����������������������	�������������������∃���∗��
������	��∃�������������	����	����	����&�����∀�������������∃��������������������
�	�����������������������������	�����������	������������������������	�∀����������
������������������	����#
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∀�����∃��������������������	�∋���������������������	���)��	�������∀��∗����������
�	�∀������ �)��	������ � 	������∗! � �� �∃����� ���∃���� ���+���������	� � ������� �� ���
���	���������	�������∃�����∀�6�∀�(��	����	�������6���������	����	�∀������#�1��
����∃�����1���������∀����������������������������	�∀������		�����	���������
∀������		)	����∃���������������������������	���∗���	�������	���� �!���������
���������∃�������������	�����������������������������6���������	�������������
���� � ��� �∀��+ ��� � ��� ���������� ��� � ���������� �������	� ���� ���	� ��� � �����������
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����	���	 � ��� � 	���� � ����� �∀����		� � �	 � ��� � ������� � ��������� � ���	�	 � ��������
����	�����	#
�����������1�	�������������������������&������������	����∋�����	������∀���

������	��������������������!�����∀����������∀������������������	�������������	����
��	��������	�����∀���������∀��	#�1�����������	� ��	�����∀�����������������∃����
�����∀�	�	 �% �∀�	��� �∃��� �	�∀������	���		 �% ���+��∃�������	 � ��	�����	 ����
��������� ��������
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���������� ��� � �∋�������� � ��� � ∀��� � ���� � ���� � ��	��������
�����∀	�����	�����������+�������������	�����6������∃����������	����	��!�����
����
�
���� % � �	 � ����&���������� � ��	 � ���� � ������ � ��� � � � ∃���� � ���
∀���������∀��	 ��� �� ������ �∀������� � ������� � ������� � �� ������������ � 	�������
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��� � )����� �,����������� ����Χ���∗ � �	 � 1 � 	�� � �� � �6�������� � �����	 � ���� � � ����
��������� � ���������	 � �� � �����	> � � ��������	� � �� � ��� � �������	 � � �� � �����������
	����������������∀��������������������	��������������������		��	�����	���+�)�����
��∗������������������������∀���������∀�������∀��	#�
0���������∀�� �����∀��	 � �	 ���������� � �� � ��� � ���		 ��� �∀����	 � ���� � 1 ��∀�

��������������������	�∀���������������������������������������	#���������������&
����������	 � ������� � �� � ������������� � ��� � ���&���∀&�∋��������∀ � �����������	�
�����������&�������������∃����������������������	���∀����∀����������������#!#�
1������������	����	���������������	��6�����������������������������	�∀����������
�� � ����������� � �	 � �∀������ � ���������	 � �������� � �� � ���	�	���� � ∀�����
��	�∋��������# ���� ���	����� �	����� � ��������	 ��∀���	� � ���	� �	�∀������������
��������	 � ∀���� � �∀���� � ��� � �� � ���������� � ��	�∋��������∀� � ∀���������∀���
�����������	#
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 �∃��� � � � 	���&��������� � �� � ��	�� � 7������ � ����
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5����	��� � �������	 � �� � ��∀��� � ���������� � ��� � 
���∀�������� � �������	 � ���
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����	 � ��∃��	 � ���� � ������������	 � ���
����������	������∀���������∃��������������������������∃�����6���	����	������
������	�����������������	�������������������������	��������������������∀�����
�������� � �6���������	 � �� � ��� � �������� � ���∃��� � 	����� � ����	�∀��� � ����
������������	 � �� � 	����		��� � �����∀�	!# � =���� � ����������	! � ��������������
	���+	����������������	����∀	����	!���������������������������	��������#�
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5����	���∗�� ���	����	����#������6�∀����
������(�� 99Λ�!#�1������	�����6����������
�������+	����∃��������������	�������������������������∀�����������	����������
������������� � ������# �.� ������ � ���� � �� ������	 � �� ������ �� �������� � ���∀�∃��+�
Χ��������������������������&���∀�����∀��	���������������∋������	������������	#
����∀����� �	 �����������∃��� � ��������∃�����������∃���� �������������������&

��	�����∀����������������∀��	��	�����	���	��������Κ��������Ν≅�∆�.���������
��	���	��������:!����������∀��������������������������	��
���∃�	�����:!������	�
����∀�����������������3���∀��������������������	����������∃������������6������
��∀∀��∀�������������������������	�	���������������������	 Μ#
7������∀���� � ����∀����Υ���+��∀�	� ��������������
.0	Υ�	� ΗΗ	����������� � ���

����	��	�����������6��������������	�����������	������������∃���������	�������∃�
�������Χ�	������#�1���������������∀∀��∀�����	����ΗΗ�����∀�����������������	������
∀������������	��	����	���	��������������������������∀������������#�
+������	�
�����!���������������ΗΗ�����������∀���������∀��	����∃����������������	���������
������#�1�����������	��	��������	�������∀��������	����������������# Ν

 Μ 7������∀����
.0	������������������������Μ!����� �!��������  !��/�		������������Ι!����∃���
����������:!��������  !��
	���������	�∀�������=�∃�������  !������∃���������	�∀��
5����	��������
���∀������������∀���	�	����4��	�����������!��
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��������������4��	����������Μ!#
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�	������ ���∀���∀���������	�������� � �������	������������ ��� � ����∀���� � ���
Χ������������������������	�∀�������	����(�������	����������������ΗΗ∀����Π∀�	����
�����∀����∃��������������∀�����)	����(�������	∗#�1��������	���������∀���������
∀���� � ���� � ������� � ��! � ���������	 ����∃��� � ���! ����	�	���� � �����������	� � ����!�
�������������������������∀����∀�������!����&������������	�∀����������	�∀�����
������������� � �∀����∀��� � ��� � ������	 � �� � ����������	≅ � ��! � ���&�������
��	���������	�����������������∃�������	≅����������∃��������	�	������	�∀∀�����	�
��������������������		����∀	�����!�)	��+�∗�����	�∀�����������	≅�����!�	+�∃������∀�
	�(����	���������	�≅������!����&����������∀����∃�������	#
8� ��∀���� � ��� � ∀���� � �� � ����	������ � ��� � ���������	 � �� � ∀���������∀���

����∀��	 � ��� � ��� � �∀���� � �� � ������ � ������	 � �� � 	������ � ��∀��� � ��� � ����
)�����∀�����	ς�������������∀�#�
8������������������∀���∀���������	����∃����������	�����������������������

��∀��� � ��� � ������	 � �� � ������������� � ������ � ������ � ���� � )	����&���ς�
�����������	���������&���∀����∃����������	# �7��∀������∀������������������∃��
	�∀�������	�	��∃��������	����������∀���∀������������∃����)5����	���∗�����
)
���∀��������∗ � �������	# � 1 � ���	���� � ���	 � � �∀�Χ�� � ��	���� �∃��� � ���&���������
�∀���������	������������∀	����������������������	#
.��������	�����������	�	��∀�����������		��������������������∀�������������&

����	�	����������∃�������#�
���∀����������������	����
	���������	���������∀���
����������������������������������������������������������������	����	�	�������
����&��� � ���∃��# � 1� � � � ����� � ����∀���� � ������� � )�����∀�����∗ � ���������
���������	������������!�������	���������������������������������������������
������∀	������∀�����������������������∀����������������∃��#�.������	�∀��
��+��� ���∀����	���+	����� ����	�∀���	� ���	�� � �����������������∀���� ��	����
�������	!���������	�	�����������	������������������	������	�������∃������������	�
��� ����������	#�=������5����	�����������	�����������������	�������∀��������
�������������������������∀����∀��������	��∀���������	��������		��������������
��������&���������∀������∃��#
1� � ����� � ��� � ��	���	 � 	����	� � ���� � ��� �∀������� � �� �∀�	∀������� � ���∃����

���������� � �6��������� � �� � ��∃ � �����������	 � ��� � ��� � ���������	 � �� � ��∀����
����������������������������∃����	������)����∀�	∗����)���	�	∗�������∃�������
��	����� �������!� ���	� �����������(�� ��� ���������� �	����&���� �����������	 �����
���∀����∀��� � �����	# � ,��� �∃��� �5����	��� � �������	 � ����∃ � ��� � � � 	�	�������
���∃�����������������������	������∀����������������������	�������������&���∀�
�����	 � �� � ���∀����∀��� � ��� � ������# � 
�∀∀���������� � �����������	 � ����
���∀����∀��� � ����	 ���� ���	� ��������� ���� )
���∀�������� ��������	ς� ���������
���	�����∀�������∀����∀�����∀��������	#

	�1�	�����������∀������	����������������������∀������������∀������������

�������� �������� � ����6������ ������� ���∀���	 ��� ������∀�� ������	�	# �
	�	�����
��∃��������������	���	������������∀�����∃�����∀���������������∀������	&ϑ&��	�
� �∃���� � ���	� � ���������� � �� � ������������ �∀����	 � ��������� � �� �;��	�� � ����
8�������∃�����%�1�+�������������������������		�����������	��	�����������������
��������	�%�����������������∀����
���∀�������������������������5����	#
��+������;��	��&8������∀�����	!#����������∃��������������&����+����∀����	�

������∀���(�������������	������������&���������������������	�����������������
���∀�����∀���������∀���������������∃��
�������������

��3������������∀��+���
�����	�����	�����	�������������∀��+��#�
�������������������������∀��	�
���∃>	�
���∃���∀���� �����������������∋��	�� �	 � ��� �∀����∀�������	����������������
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���∃�����������#�1��
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5���∀������	���������1�������������%��	�)�		���������������������������������
��>	�
∆�∃��������������		���������������������	��������������∀���∗#�
��������������∃�
��������	�)�����	��	���������+���������∀�����������	�������∀	����∋��	�&�∋���������
∀����	 � �� �∃���� � 	�∀�� �����	� � ��������� �∃���	 ���� � ��� � 	���� ��� � ����&���∀�
�6���������	 � �� �5����	> �	��	�� ��������� � ��6��� �∃���� ������ ���Χ�	� � ��∃������
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7��������	�������)����∗�Χ�	����������������������∀��	�#�
����	�����������������	��
���	�	� ����������� ����∃������	�∀������ �∀����	 � ��+�	�	�����	������� ���� � �����
��������� � ����∀��	 � ∀���� � 	�	��∀�������� � ������ � ���∀ � 	�∀� � )�����∀������
�����		∗��∃�������������∀���	�Ο!#
1 � ����+ � ���� �∀�Χ�� � �������	 � ���� � ���� �∀��� � �� � ��� � �����	������� � ���

������������∀������	∀	����∃����������������������������∀��+��	�&�∃�������∃��+�
�������	�������������������������∀���	����&�����������∃����������+��∃�����∀����
����������������������������������������	#
.�����	��������	���∀�����������	��������∃��������#
����������������	����������	����������	��������������3�������	�������1�����+�

����������� �	����� �������� ���� � ��	�������� �	������ � �� � ���+ ������ � )∀��+���
����������∗�
���������#
������� � ����� ��∀���������� � ���������	 � �� � ��� � �������������� ��� � ����������

∀��+�������∀��	��1�	��������������∀�������������������������������#
2� � ��� � ��� � 	���� � � � 	�� � �� � ����	��������	 � % � ����� ������ � ��� � ������� � ���

)������������ � �������∗& � 	�����	�� � ��+�	 � �� � ����� � 	�∀� � ���∀ ��� � �����&������
������������� ���� ������ ���	� � �� � ���∀��� � ��	+ �����	���	! ����� ����	�	 ���� ����
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������������.����((����� �!�����
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�	����������∃��	���	Χ����������
��������������	����∀�)�����∀�����	∗&�
���	���	�∀�����������	�����	������������������������������������#
1���������	���	��∀���������������������	����∀�����)�����∀������	�∗�������,�

�����	������������������������������∀����	�����	��∀���������������������	�
��������≅��∀�������≅��������������≅�)������������	�	∗�����)∀��+��������6�����∗≅�
�������������+��∃���������∀�	#�
���	���	�∀�����������	����∀��������7���∀�������������������  !�����������

�������������������������������������������	����	�������������	�������������+����
�������������		�∀�������� ������������	����
	�� �	�∀������������������	��		���
�����&

����������∀�������∀���∋����������������������������������������	�����∃����

∀�	��	������	�������������∀��	����������������������������(��������	�����	�����
����	 � ���� �+��∃������ �	 �	�� �	����� �����∀������������������� �∀��	���� �	���
�	�∀�����������������������������������������	���#
�����������	���������∃����������	�∀����	�∀������������	�∀����	�∀�����)	�����

��∃�∗�∀����	����	�������∀���������∀�∀���	∀�����������������������������	�����#�
	�∀���∀�	��∀�������������∀��������∀���#�����∀����	�	+��������������5��∀���
��� �!�������������6�∀��� Ι#
;���������1��∀������������������������	�������∀���&∀�������������������∃��

�����������	�∀���	#�=�∃������∀����	�	��∀��������+	����∃���������∃��∃�����
���� � � � ��� � �� � �����	������� � ��� ����
�������
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�
��	�	����������,��	�∃�����������������������	���������Χ���#
7����������������∀�Χ��������������������	���������������������������∀��+��	�

∃������������������∀�#�
�������������������∃����∃������	�����������������������∀������������∀�������

���∃����0��	+�&��������������������		�	��0��	+��� 9:������� 9:Ν!�������������
�����������6��������������	��������������(�����������������∀��	��������������#
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�������∀�Χ��������������������������	�)��������6����∀���	∗������������
���	������������∀��������������	��������������	��������	#�
7����6�∀�����∃��������������	�����������∀�����∀������������������������	�

	�∀��������∀��������������������∃������∃����∃��������������������������������
����∃�����������−�������.��+������������	�∀��	�������������>	�/����%����+����
�������������∀�����	�������������	������	�������������������	�&�?�;�����		����
	�����������	��������������������������������������∃������∀�����������	����
��������#�8����∀�����		3�������������������������������������������������#�1��∀��
���∃�����	��������∃����������∀����������Χ���	�	�����	�����	�&�������)/���������
�∋���������∗ :�����������0������
��	������Ρ������������∀��������	����������	�
?�	
������������������	����#

 Ι =����1�∃�������∃���������∀��������������∀��������0���������������Χ∀���� 99Ν!�∃����
��������	��������6���������	��������	������������������������	�����	����	������	������������
�����∀�����#�

 : 1��������1�����+������������∀��	�)�������∀�����������	�	����������������	∗�������	��������	�∀��
�
	�
#�1������������	������������+������∃��	��������	�	������	������6����+	�������∀��������
�������>Ι���������∃����	��	��������������������	��������∀���������������	������������������
��		���������������������������������)����������6��������������������∗����∆���	��
������������#�
�����	���������������#�
�	������������	��������∃�������+��������������������������������
������?�2�����������	�������������������������∀����)������	�∗!����+���������������?�Σ���
�����∀�����		#
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8�����������������������������∀��∃������	�%������������������������������&�
)�������(��∗��
����&.�	������������������∀����	����������������������	��	�∀��
������∀���	������#�.������+������∀�	�����∀����	��������	��������∀�����	#�2��
����	�����������������������������������		�������	�������6�∀�����#
������������∋���������∃�∃��+	�∃����������)��	�����������	�Π���������������∀���∗�

�����		������		�������������	������	������������	��∀����������������∃������	������
��∀����������������	����������∀����������	�������������������������������������
������(�����������	�∀∀������������∀��	#
Σ�	�����������������������	������������	������1�����+�����∃�������∀∀�������	�

��∀∀������ � � �∀�Χ�� � ������������ � ��� � ������ � ���∀� � ��� � �� � ���+ � �� �∃��� � ����
��∀�����������������������������5���∀����������∃�����∀�����	��������������
����∀������∀����������������∃��������	�������������	�����/�����+��������������
����∀���������� � ���∃��� � �������(������ � �������� � 	���������� � ��� � ��∀�������
�/�����+����  !#
1�������∀���	�(����������������������������∀∀���	���������������	#����	��	�

���������	��1����	��������������∀	���������	�	���		��∀�������#�2��������������3�
����� � ���������	 � % � ���∀ � ��	���� � �������� � )������������∗ � �∋����������!�
������(�������������∀&���	����	�����������	�	���������∃��������	��	�����	�%��������
���	���∋�������∀����������∀���∀���	������	�∀���∀�	�∀����������������������#�
��� � ����� � �	 � ��∃���� � ���� � � � ���� � ���� � �� � ��� � �������������� � �� � �����∀���
�����∀���������������∃���∀�������� ��� � ���������� �������� �	 � �����∀������
��
����%����������	������������∃���������������������������������	��������������
∃���������	����	�%����∀�����∃�� ��
�����
���
���#�
���∃�������� ��
�	�������
��������∀���������	#
��+������������	�	�������������������	�	#�∆���∀���������	������� ����
���	��

∃�������������������∃�	�Χ�	�����������∀������������������	������	���+������
�������������	�∀������������	�����������������∀����∀�����������������	������	�
Χ�	���������)��Χ�	�∀������������	∗?<?<!#����������������.���
���∃>	�;�������	>�
�������������#�,������������������∀��������������������������		���������������
������� � 	�����	�� � �	 � ������� � ���������� � ���+ � �� � ��� � �����	�����	 � ��� � �������
���������	������������∀�����������������������	��������	#�
���	���������	���	��
������	�������������∀������������	3�)������������������	���∀����∀������������
∀��+������������������∃����	��������������������������������∀����∀�������6�����
###∗���	�������∀����∀����∃�������������	�∋�����������∃����∃��������������
��∀���!≅�)���������������∃��	����������������������������	���������������∃���
∃����	�����������###∗���	����������∃��������	������	�������������������∃���������
���∃��� � ������� � ����	�∀��� � ��� � ������ � �6���������� � ���� � ����� � ��� � ����
�����∀���������+���!≅�)����	������	������∀����� ��∋������� ��������������∀��
�����	�����	�∃�������������+���������&���∀�������	������	���������������###∗��∃����
�����������������∀�����������������������∀������∀∀������	��2,−����������	��������
����∀�����������������

������	!≅����#
1��������	�����	�������	�������
��
�������������������	����������������		�����

������������	����������������������������������������∀��������������	#
1� � � � 	����&����� � 1 � ∃���� � ���� � �� � � � ������∀ � �� ��		������	��
	��

,�
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	�����
	
��, � �
����� � �

����������
, � �
�	
���	���# � ��� � �∀������ � 1�
���	��	���������∀�����	����)������������	���������∃����������������������������
�� �∀�+� � �� � ������∗# � ;�����		 � �� � 	��� � ����� � �	 � �� � ����∀��	 � ��� � ���∃����
���∀���	������������������������	�������������∃����������∀���	�	��∀�∃��+	�
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�������	�>�!������������������	�∀�����������������	��������	#�2������	�����������
���	������	���������������������������������������	�#�∆���∀��Χ�	���������	��		���
��������������	�����������������	��������∀�∀����∃��������	����������∀�	��������
�������6��	�%�∀�������+������������>Β�	�%�������	���	�	���	���� �∀������������
∀�����∀������������	�	���������������������������������������������	�������#

ΒΒ



.1.∆12�/
�=Σ


+����� � �#
# � �����!# � ς.��������� � 0���������∀��	 � ��� � 0���������∀�� � .��������ς�
��
����	�∀��	�����>
��
���9���Λ  &ΛΒΒ#


����	����#8#��5#Κ#�
���∃������#�����	����	#!�� 9::!# �∃�
�∀��	��������	�∀�����	��
2����
 �(���
��∗��/��∃����−�����−
3�
���	��&8�	���#


���������0#������#�.����((����� �!#�)0��+����∋�������������������������������������∗#�
Γ���	������?���
��������∀��	�����,�ΛΝ��  Λ�%  Ι�#�


���������0#������#���������� �!#�)8�����&�������	������������������������∀��+���∃����
������&�������	������	∗#�Γ���	������∀��	�����)
��������	
�Α���	�+����	,�ΙΒ��Β�Ι%
ΒΜ:#


������8#.#�� 9::!#�−�∀������������������	3�
��2������∃������#���	���−#�7���∀����/#�
;��	��� ��# � 
���������� � ∆#
����� � ���	#!� � ��������� � −����� � ��� �,����∀�� � ��������
∆�����3�������������	���#


������8#.#�� 99Λ!#�1�����	����/�����	����������������������������,����∀���
���

����3�Ρ�����	�������0�����������		#


������8#.#� �
#��������������#�∆�������	#! � � 99Ι!# �∃�
�∀��	��������	�∀�����	��
2����
 �(���
��∗∗��/��∃����−�����−
3�
���	��&8�	���#


����� � 8#.# � ��� � Σ# � 0# � ,�∀����� � � 9:Β!# � 
 � ��������(�� � Ρ�� � ������∀ � ��� � ��	�

����������	��5��������+��� 9��Λ9&ΜΝ���������	�������
������� 99Λ!#


������8#.#������#�
#�∆����� 99Β!#�1����∀������−����������
����������−����������
,����∀�������∀��	��Λ��: & �Λ���������	�������
������� 99Λ!#


	���∀�Α#��.# ����	�∀���������#�=�∃�������  !# �)�	��, �?���
��Α���	�+����	,��	
�
?����
��	���� � 4
������	�
Ε � �	 � ��
	��)��

 � 2���������	�� � �	������& �;.,/�
8��+����������;�#� Ι ��#


����� � 0# � ��� � Κ# � 0���� � ���	#! � �����!# �∃�
 � ∀��	����� � �� � 2����
, � 2��	�
 � �	
�
Α���	�+����	�Ε�∀�������	�?
��������>�����
�?&�2�
����−��������∀3�,�∃����,����#


���	��/#���#���	����#�7��������0#�0����������−#�2��������� 999!#�)��∀��������∀��	�
∃����	���������������������������	0,�∗	
���������	
�2�������
�2��	�
��:��ΒΜΒ&Λ�:#

.��+����#�
#�� 9ΙΝ!#�∃�
�∀��	�����������������≅���	�)
������,�−������3�Ρ�����	����
���−����������		#

.��+��� � 0# � −#� � ;# � ∆�(����� � /# � /# � ;��	�� � ��� � 
# � �# � 8����� � ����Μ!# � )
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